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e -~ae/2-2z +8EIR; A(x))>0 (VPa)

1 1 1 2 2
As a consequence of lemmas 2.3.2 and 2.3.3, the previous restrictions are
necessary and sufficient conditions for the type a country to make g, and pay
z, and the type a country to make 51 and pay El. If we want a to randomize,

then ICa must be met with equality.

We now analyze in turn the cases A > 1-K and A < 1-K

CASE A > 1-K

In this case if e is observe we will have Az > 1-K and if e is

cbserved we will have A2= 0. Using EU 5 EGZ, and EH2 from Lemma 2.3.1 we

find that the bank’s problem is
Max (1—A1) (1-x 1) { z,* 3 min [R 2,1/ 2a 1} +

{1- (1= (1-x )} (£1+ 8 min [ﬁz, 1/2al}

S. a.
= e , z = e (Gunboat condition)
_1 -1 _ 1 1
z =z 3R =R {Non- verifiability of e )
1 1 2 -2 1
e-ae/2-z -omin{iR _, 1/ 2a} >
1 - 1 1 - 2 - =
e -aer/ 2 -z-&mnin{R,1/ 2a} (IC a)
1 1 1 2
e - a éf/ 2-2z +5(1/2) -smin{R, 1/ 2a } >
e-ae/2-z +38EUR ; A(x)) (1C a)
1 1 1 2 2
e-a gf/ 2~z +35(1/2a) -smin {R, 1/2a} 20 (VP a)
e - a éf/ 2-z +35(1/2a) -snmin{R, 1/ 23} 20 (VP a)

To solve the problem we will ignore the gunboat, verifiability, VPa and ICa

conditions. In the end we will check that they are satisfied.
i) VP a is binding because ENl is strictly increasing in 21 and increases in

21 make ICa slacker.

ii) From (i) and ICa it follows that in equilibrium EU > 0, that is, VPa is

50



















































































